Question 1a
i)
Find in implicit form, the general solution of the differential equation.
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ii)
Find the corresponding explicit form of this solution.

Notes to OTA

I know that the equation has the form
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And as such I need to separate the variables. Which I think are
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And rearrange in the form of


[image: image5.wmf](

)

(

)

1

dy

fx

gydx

=


I get this to be,
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Which is,
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When integrated becomes,
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 (c is an arbitrary constant)
This does not seem correct to me but I cannot say why!!! 

Because of this I am getting confused on the algebra required to find the explicit form. Please can you run through this for me? Thanks  
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